1. Which state of India is the first state to start
. ot
Coffee plantation
Karnataka
(B) Andhra Pradesh
(C) Kerala
(D) Tamil Nadu

—

E 72124 6
9 | 16 | 12
108 2 |18

(A) 12

(B) 18

(C) 20

D) 16

3. Which state of India has highest percentage
of forest area?

(A) Mizoram
(B) Nagaland

(C) Madhya Pradesh
(D) Meghalay,

4. The aver, .
first number js r1':13 ¢ of three numbers is 80- The

the second nyp, More than twice the second and
What is the 10“,“: :15“10 less than thrice the third.
(A) 68 mber?

(B) 28
(C) 66
(D) 2¢

(3)

rpSIwP)/20
1. Mmmﬂumaﬁﬂmw
e
) b
(B) i
(©C) Famm

(D) g

3

2|24 6
9% | 16 | 12
108 7 |18

(A) 12

(B) 18

(€) 20

(D) 16

3. SRTATE (I AMB) IR TN e
w4ife

(A) frerm
(B) TS
_(C) g™

@’m

*qugsmmmﬁﬁ!

mlﬂﬁﬁmﬁﬁwwm
:ﬁmm 10 31 TN cufp reorf®

IFEY
(A) 68
(B) 28
(C) 66
(D) 26
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5. If '+’ means ‘x', ‘+" means ‘-’, ‘x" means
‘+" and ‘-’ means ‘+’, then what is the value of
(2427-3+2x3+2)?

(A) 35
(B) 27
(C) 39
(D) 37

6. Which National Highway of India is the
longest?

(A) NH 17
(B) NH 60
(C) NH 44
(D) NH 10

7. If number 2isinbottom, then which number
is on top on a dice?

W &9 @

(C) 6
(D) 3

8. Which of the following is a browser to
iccess Dark Web?

(A) Google Chrome ¥
(B) ios

(C) Tor

(D) Linux

9. If the ratio of principal and simple interest
4% perannum fora specific timeis 5:2,find the

wmber of vears for which the principal was
leposited.

(A) 10 vears
(B) 15 vears
(C) 18 years
(D) 12 vears

(4)

5. TR & TR, WA W
CONIR Y W, SR(2+27-3+2x3+2)04
s faefa @A = AR

(A) 35 2L = .
(B) 27 Lt -
(©) 39 e

/B‘)’Tf

6. ST Aoy GeE Fo& @ ?
(A) NH 17
(B) NH 60
X€) NH 44
(D) NH 10

7. o 2 el wamm A o @ ARl wwm
TATR ArA?

(A) 5 c 1l

(B) 1 (., @ n
(©r6

(D) 3 !

8. f=fafe® @@= Browser B2 A2t Dark Web
access ¥91 A ?

(X) 05 T
(B) 92 € 9%
(C) %3

(D) T

9. I 4% A W 3% R swe oA ¢
A TS 5 : 2 T, ST e Gl 3 HAGE &0
faferanst =21 e ?

(A) 109=9
(B) 15%&d
(C) 18 3=
(D) 123=5




10, The Hindalco Unit at Muri is located on the
bank of which river?
(A) Mahanadi
(B) Subarnarekha
(C) Tungabhadra
(D) Kangshawati

11. Who was the first recipient of Padma
Vibhushan?
(A) Nand Lal Bose
(B) Dr. Bir Bhan Bhatia
(C) Pandit Jawaharlal Nehru
(D) Satyandra Nath Bose

12. A mixture of dettol and water contains 80%
of water. What volume of dettol is to be added to
60 litres of this mixture, so that the new mixture
contains 75% of water?

(A) 4 litres
(B) 8 litres
(C) 10 litres
(D) 6 litres

13. On which river Tehri Dam has been built?
(A) Ganges
(B) Ravi
(C) Ichhamati
(D) Iravati

14. A man standing on the platform finds that
an Express train passes him in 15 secs. If the speed
of the train is 60 km/hr, what is the length of the
train?

(A) 250 meters
(B) 150 meters
(C) 300 meters
(D) 200 meters

(5) RBSIW(P)/20

10. 1% fetorrn i cov i S LS !
(A) Tz
(B) asfray
(C) gwem
(D) ®orad

11. 29 “fafagas samaz oo o o 7
(A) &4 @™
(B) ©: Jaem =q
(C) ’ﬁiﬁewm
(D) ACSTH=1Y s

12. =6 (©oa ¢ TR o 80% &= =T
60 fora <2 firmrt b1 cwba s, o% farmre
75% &1 YA ?

(A) 4 fom=
(B) 8 faorm
(C) 10 oo
(D) 6o

13. (ozfz difS W T3 Tow SRS
Prs
(B) 3R
(C) T
(D) ZARE

14, e e &% I O Q= ey
G Tz 15 T o ¥ | 7 e G
sfezant 60 fefa/a! T 0 @7 or e

(A) 250 fOT
(B) 150 fi0F
() 300 fiord
(D) 200

[lee 'Ihm OVEI‘]
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5, which of the following is known as Mixed
2
(B) Liver
(CJ Fﬂncma_s
(D) Pituitan

ginﬂd

16. M men agreed [0 purchase an article for
Rs. R. If 4 men drop out, how much more (inRs.)
will each have to contribute to purchase the article
at the same price?

.
A 32 _am

B) R _4r

4M-R
© ~4r

M?*-4R
D) 3R

17. The Pompus grasslands are found in which
continent?
(A) Asia
(B) North America
(C) South America
(D) Africa

18. Explain the following relationship with the
help of Venn diagram:
Singer, Musician, Doctor

“g
®) OOO
"%

L

15. farsre @mibs fi=afg o e
(A) <fRacre
(B) 7%
ST
(D) fop2bifa

16. M et st «2fb 527 R 104 fe1e s
| MW SioFa Wy 4 T WA 60 A, T3 A
2 G I g2fl e oeraE @ bra caf fire
ar
.

M? —apm

AM

R -4R

4M-R
4R

M?* 4R
D) =S5==

(A)

(B)

©

17. i g @m Tt o shew
e
(A) «fem
(B) &z wwfaa
ey v st
(D) =nfa -

18. (=4 TR AW fArsre &R aman



in the

(A) Damodar Valley
(B) Mahanadi Valley
(C) Godavari Valley
(D) Son Valley

20. Simplify :

(VD + V125 - 567) (300 + V335 + 947)

(A) 2012
(B) 1445
(C) 567
(D) 878

21. Who Named Kolkata as ‘Alinagar’?
(A) Siraj Ud Duolla
(B) Mir Kashim
(C) Bahadur Shah Alam
(D) Mir Jafar

22. If the following words are arranged in
alphabetical order which word will come last?

1. Abandon 2. Actuate 3. Accumulate
4. Acquit 5. Achieve

(A) Actuate

(B) Acquit

(C) Achieve

(D) Accumulate

23. Whichofthe following is the world’s oldest
Capital City?

(A) Canberra
(B) Oslo
(C) Accra
(D) Damascys

19. About 80% ofthe coal reserves of India lie

(1) RBSIW(P)/20
19. MMWBG%MWWM?
A AR e
(B) o8 wraafyam
(C) TR Bz

(D) 9 Saafzamy
20. FAAEAY AN 3
(V20 + 1125 - V567) (V500 + V245 + 947)
(A) 2012
(B) 1445
(C) 567
(D) 878

21. FFIENE Wiemor amwaas @ wafem
(A) Frare B cien
(B) Traeiferm
,(Cfm‘rﬂ'lmw
(D) e

22. 57 el afae wEd Ao @m
%0 (1T WA

1. Abandon 2. Actuate 3. Accumulate
A7 Acquit 5. Achieve

(A) Actuate
Acquit

(C) Achieve

(D) Accumulate

23, frarez sy ¥ ABET Arwnd e
@b e

(A) TR

il

(C)

(D) WS

[Please Turn Over)
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24. 40’clock rain is prevalent in -
(A) Amazon and Congo basin
(B) Yenisei basin
(C) Huang He basin
(D) Nile basin

25. In a code language 724 means ‘leaf is
green’, 371 means "green and blue’ and 438 means
‘sky is blue’. Then which numbers represent ‘leaf’
and ‘is’?

(A) 2and 7
(B) 7and 4
(C) 2and 8
(D) 2and 4

26. INDRA 2021 was scheduled to be held at
(A) Russia
(B) Japan
(C) Singapore
(D) India

27. If 144=9, 2+8=18, 3+6=15, then the
value of 7+8="

(A) 41
(B) 30
(C) 32
(D) 23

28. Findthe fourth proportional of the following
numbers:

| =

11 3 .
o
1

A) 13

—

(B)

(©)

(8)

24, 4931 B (40’clock rain) fasfafae

25, il FiCafes ©ram 724 W0 ‘leafis green’,
371 WA ‘green and blue’ tﬂaﬁf_@ﬁiﬁtﬂ ‘sky is blue’
z7e, ‘leaf” @ ‘is’ (FIF wefl B (IR I ?

(A) 249 7
(B) 749 4
(C) 248

Praana

26. ‘INDRA 2021’ A0 (PIei S e 2674
FY1?

(A) e
(B) =+«
(C) Frtefa
(D) e A \5
oSl S
27. *% 1+4=9, 2+8=18, 3+6=15, S

7+ 8- FTE?

(A) 41 H i\%ﬁ’ i
(B) 30 (’%’i 6
©) 32 NG

DY 23

28, fufEAe St SEeis vgdf s 39
1

3

(A)

—

I"

L

1
'6'
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29" 12t 355 3.?, 49. ?
29. 12,25,37,49.? (A) 69
(A) 69 (B) 56
(B) 56 (C) 60
(C) 60 (D) 65
(D) 65
30. The tenure of each Member of Legislative 30. TR At oy e w2
e
. A) 3
Council is ) 3w
(A) 3 years /[B b
(B) 6 years (C) 5251
(C) 5 years (D) 2 9%3
(D) 2 years

31. Choose the alternative which closely 31. 53 A eveiram fabew et afefam 2

resembles the water-image of the given word: NUCLEAR
NUCLEAR N BvErcum
(A) BYEFCUM (B) MUCTavK
(B) HUCTIVE ey UNCTEVE
(C) UNCTEVE (D) UNCIEVE

(D) MNCIEVE

32. Which temperature in Celsius scale 32. CEE B AGARBIE N SIS
represents Absolute Zero Temperature? ‘Absolute Zero® S A (QRATH T ?
(A) =-273-15°C (A) =273-15°C
(B) -23715°C (B) -237-15°C
(C) -373-15°C (C) -373-15°C
(D) 0°C (D) 0°C
33. 45 men can produce 10000 electric bulbsin 33, g3 7w AEH 45 E e 12 Eic)

12 days in a co-operative concern. The concern got 00007 e 3T 2ES T AR 1=
an order to produce 10000 electric bulbs in 9 days, : S ki

| e
How many more men would be employed to meet 10000 3y tefr 1S N A

the order? T i el e 23, IS T e soergy
(A) 60 AT
(B) 55 (A) 60
(©) 10 (B) 55
(D) 15 ©) 10
(D) 15

(Please Ty, Over]
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34, Bhaba Atomic Research Center is situated

in which state?
(A) Madhya Pradesh
(B) Telengana
(C) Maharashtra
(D) Odisha

35, If time taken to travel between two stations
has to be reduced by 20%, then by what per cent
would the speed of the train has to be increased?

(A) 25%
(B) 30%
(C) 15%
(D) 20%

36. The National Police Academy at Hyderabad
is named after which of the following personalities?
(A) Pandit Jawaharlal Nehru
(B) Lal Bahadur Shastri
(C) Sardar Vallabhbhai Patel
(D) Mahatma Gandhi

37. During whose Governorship each Police
Station of British India started functioning under
Sub Inspector of Police?

(A) Lord Cornwallis
(B) Lord Bentinck
(C) Lord Mountbatten

(D) Lord Rippon

38, Rashik walks 20m North. Then he turns
right and walks 30 m. Then he turns right and walks
35m. Then he turns left and walks 15m. Then he
again turns left and walks 15 m. In which direction
and*huw many meters away is he from his original
position?

(A) 15m West
(B) 30m West
(C) 45m East
(D) 30m East

34, wwﬁwﬁﬂﬁm@mmmﬁw
(A) T
(B) (St

ey g

(D) Tfea

(eI 7 20% T

35, T 45 GO 00
sferast @S =oI JfH

Fare 74, O 3 Gd
FATS AT

(A) 25%

(B) 30%

(C) 15%

(D) 20%

36, THERAE e sffer afirme (@D
(National Police Academy) 1< SITH s ?

) ofesT sezee (%F
(B) werrerd
(C) 47 ISR “ATNHa
(D) wzr ol

37. W e EmEEE e (e =he
STz 2 ot 7R TR A HfniEre
REN SF Q@

/(»A’) 76 afenie
(B) =16 &Fom
(C) =76 ATHIHA
(D) =16 fasiw

38, ah@ Tar e 20 ftR &% IW) 3
TR @ G130 R 3 | @aor S oW e
Tz 35 filbr T | @3z A fee g 15 fvm Tl
R SRR AW HE Y 15 iR T | 2P ENE

mmmﬂmwmuﬂmmaﬁc?ﬂm
(A) 15 filbrz «ff*st ‘
B) 30 fibr A
45 fom ord
) 30fem o -

0
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Officer in any state 39. ST o uﬁﬂﬁﬂﬂ

39. Whois the highest Law
of India? i @
(A) Advocate General (A) Seremmsy
(B) Solicitor General (B) itz o kil
() Secretary General, Law DepRrimett (©) s farey, A
(D) Auomey G'eﬂeml ok Cﬂm A ’

: ly honoured 40. =ife
40. Which Indian actor was recently ; W sy wferet T LALCRS
World Economic
ard of the Wor AT ORI T s’z #A0EA ?

with the Crystal AW
Forum? (A) Termme giorg
(A) Priyanka Chopra (B) fm aog
(B) Kareena Kapoor C
(C) Anushka Sharma ) W
(D) ¥t sirgram

(D) Deepika Padukone

41. ABCDEFGHIJKLMNOPQRST 41. ABCDEFGHIJKLMNOPQRST
UVWXYZ UVYX‘{'Z. \
Which letter in this alphabet is the eighth T IR @ D AR A
i tter which is tenth letter S SO
zttﬂ::tl:f:;h:fr:tf::a‘:g:ftrne:enerf)f :lie alpha:)et? ' 2 SRR R LR UCE R EE
TAME Sed TH WE?

Aa) X (A) X
B) 1 B) 1
(C©) H ©) H

D) W /(D')W

42. A sumwas putatsimple interestata certain 42. (O EE i 3 TAA T RfEs s
rate for 3 years. Had it been put at 1% higher rate; 71T o3 a3 «AfFae B 1% @ﬁ%ﬁﬁmﬁ
ft would have fetched Rs. 5,100 more. The sum +a1 75, o 5,100 SRl A oNeT (TS | e

} (A) Rs. 1,70,000 (Principal) O/ 7o oAt
(B) Rs. 1,25,000 (A) 1,70,000 5/
(C) Rs. 1,20,000 (B) 1,25,000
(D) Rs. 1,50,000 (C) 1,20,000 0
(D) 1,50,000
43. The process of cell division in Amoeba is 43, s R @ Aerema AfiFma A
termed as POy
(A) Amitosis
(B) Micosis S R
(C) Mitosis (B) WA
(D) Meiosis ©
(D)

(Please Turp
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44. How many pairs of letters are there in the
word ‘CASTRAPHONE'’ which have as many
letters between them in the word asin the alphabet?

(A) 3
(B) 5
(C) 6
(D) 4

45. Buddhist religious scripture Tripitaka was
written in
(A) Pali
(B) Sanskrit
(C) Hindi
(D) Bengali

46. Who of the following was named ‘Jagat
Seth’ by East India Company?
(A) Manikchand
(B) Khoja Wajid
(C) Umichand
(D) Fatikchand

47, I %m of & road Ja A% Tern. what s The

length of 32"th of that road?

(A) 60 km
(B) 68 km
(C) 26 km
(D) 66 km

48. Recently in which state of India, 300 years
old Sati Stone was unearthed?
(A) Madhya Pradesh
(B) Haryana
(C) Tamil Nadu
(D) Gujarat

(12)

44. ‘CASTRAPHONE' *#b% 3 (uiIy! wpag
W AR W2 TO 0 T e 2fToe soo
T WL ?

(A) 3
(B) 5
(€ 6
(D) 4

45, (A% wiare e’ o fafere E e
PRy
(B) #ATHFS
(C)
(D) [iEEm

46. FeRe om Tfe To Ifem @i =
e o1 FriES Tt

Aifbre
(B) curet ewifem
(C) Tfabm
(D) wfhabw

47, % =l e 13—0 Heet 45 Ff @, s e

b %mmﬂwv
(A) 60 f&f
(B) 68 &l
(C) 26 Rf
(D) 66

48. Wrefos WS SRSAT @W AT 300
T2 ADW T AT “ANeT; (0L ?

(A) ST
(B) et
(C) SifiEg
(D) @&AT
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49. A tea seller blends Tea A worl.h
Rs. 250 per kg with Tea B worth Rs. 150 per kg in
a ratio of 2 : 5 and sells the mixed blend at

Rs. 200 perkg. What will be his percentage of profit?
(A) 12%
(B) 10%
(C) 18%
(D) 15%

50. Indian Oil Corporation’s first ‘Green
Hydrogen® plant will be built at
(A) Mathura Refinery
(B) Paradip Refinery
(C) Jamnagar Refinery
(D) Haldia Refinery

51. Shyam borrowed some money from his
friend at simple interest of 6% per annum. He
returned his friend Rs. 15,600. After how much
time did Shyam return the money if he borrowed
Rs. 12,000?

(A) 8 years
(B) 5 years
(C) 3.5 years
(D) 2:5 years

§2. Which of the following is the longest river?
(A) Ganges
(B) Brahmaputra
(C) Godavari
(D) Indus

53, Father is three times as old as his son. After
twelve years, his age will be twice as that of the age
of his son. What is the present age of the son?

(A) 10 years
(B) 36 years
(C) 14 years
(D) 12 years

RBSIW(PY20'

49. 9% vl-fanare 95 Bra/cafe W A Bl
150 B/ C¥% weam B grgg e 2 ;5 TGS

.l -utﬂﬂhﬂ!ﬂﬂmmz‘mm{@ﬁmﬂﬁ

Iu" fal ﬁfﬂl BN
» U T Airey srowa oA FTY
(A) 129

(B) 10%
(C) 18%
(D) 15%

50. ) A FoArzemmz e ‘Green
Hydrogen’ A% ium 7forg zra

(A) YA TTarmenz

(B) #irardief TEETT T
(C) TR teareyana
(D) =7 Teeree

51, *IT% O 9% IR IR (A3 oy T @A
6% 721 07 413 GTR | (3 ST12 TG0 ¥ 6 oA A2

15,600 B! (s o | 7 = 12,000 Bt 4z o
I, T (7 FSMER G Dt 4z Tt ¢

(A) 83=
(B) 53=3
(C) 3533
(D) 2.5 @A

52. frare o Mfew e
(A) o=
(B) F=°d
(C) CowrRA

(b7 s

53, forora au uR WO o0 |12 7@ o
ot forer e IR WO RO T, O <fpa
FEq ;A IO

(A) 10T
(B) 36T
(C) 14T

/(p)’lzm
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xS .
hri award winner Mouma Das 1S 54. *M& orE wh G WS (@1 (AT S
54 F - f Sports? e
associated with which field of Sports: "
(A) Badminton (A) Fyrefirts
(B) Table Tennis (B) (b= (Bfim
(C) Cricket ©) Rrrad
(D) Lawn Tennis (D) = @f
55. The concept of Welfare State is included in 55. TUDT B ¥R e AR
the Constitution of India in the (PN SR ST 91 A ?
(A) Preamble (A) =Er=E=
(B) Fourth Schedule (B) vu¥ weifirm
(C) Directive Principles of State Policy a8 s S0
(D) Fundamental Rights o Ll
(D) e wftara <
g
%V
G LS
4\40

56. HCF of two numbers is 32 and their LCM

56. 4% A0, GARF ALY, TUFE 32 4R
1s 1760. What is the smaller number?

(A) 160 1760 2@, FESA R T2
(A) 160

B) 152

:c:) 102 (B) 152

(D) 110 (€) 102
(D) 110

S1. Tungabhadra is a tributary of 7. mmmm?

(A) Krishna river A) T N
(B) Godavari river APS
() Brahmapytra river (©) WA

(D) T .
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which of

T 2 A Nkl BN ettt T

the given figure?

(A)

(B)

©

(D)

mirror is pPlaced on the line MN, then
the answer figures is the right image of

|

KKK X

(15)
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9. Who pecame the
wo ‘-'-:Jl}’mpic medals?
(A) P.T. Usha
(B) Saikhom Mirabai Chanu
(C) Lovlina Borgohain
(D) P.V. Sindhu

first Indian woman to win

60. G’s father is X’s son. P is G's uncle. Y is
X’s brother. Then how is Y related to P?

(A) Uncle
(B) Brother
(C) Father
(D) Nephew

61. Which one of the following is a Tax-free
Sea port in India?
(A) Kandala
(B) Mumbai
(C) Cochin
(D) Haldia

62. How many two digit prime numbers are
there?
(A) 25
(B) 21
(C) Can’t be determined
(D) 23

63. Abegan a business with Rs. 2,250 and was
joined afterwards by B with Rs. 2,700. If the
profits at the end of the year were divided in the

ratio of 2 : |, after how much time B joined the
business?

(A) 6 months
(B) 7 months
(C) 3 months
(D) 5 months

. =y

59. = SRS W FALN WAz conyry
i oW & IEEA T
A) . =
4;56 wizears Tarid o
(C) =wream Tersi
(D) f4fS. g

60. G 03 A T X~93 74T | P 1 G937

Y 78 X-92 ©f% | oA Y, P2 N
(B) @i,( )
(C) I \/6‘.
(D) SrEgsi

61. e @l erRTe w3 owyE I ¢
(A) remE
By TR
(C) cifow
(D) &

62. 7 srEa Foaf Al vy SR
(A) 25
(B) 21
(C) Fefm =3 w3 71|
(D) 23

63. 4, 2,250 o= T o= e oF @)
FFEA B, 2,700 O fr e 7@ = W
AR (T TSI 2 2 | TS 4 '@ B2 WY Ol
7, O@ A OF AT TS AT 4@ B I I8

e ?
(A) 67
(B) 7%
(C) 3%
(D) 59
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64. Six friends, namely, A, B, C, D, E, F are
sitting on abench. E and F are sitting in the middle.
A and B are sitting in the furthest corner. If C is
sitting just left to A, then who is sitting just right
to B?

(A) D
(B) C
(C) E
(D) A

65. A sum, at the compound rate of interest,
becomes 2% times in 6 years. The same sum
becomes how many times in 18 years?

(A) %

625
16
125
8
25
4

(B)
(©

(D)

66. Whose Pen-name was ‘Dhumketu’?
(A) Kaji Nazrul Islam
(B) Sharat Chandra Chattopadhyay
(C) Satyajit Ray
(D) Sunil Gangopadhyay

ini i Nita but not shorter
. Mohini 18 taller than Ni
!h:: Sarita. Sarita and Malim are of th::L :;2:
height Mohini is shorter than Hema.
them, who is the second tallest?
(A) Mohini

(B) Hema .
(C) Can not be determined

(D) Nita

rBSIV(E )/20

64. A.B.C.D.Emmtﬁrw“@wm
mnEthmmmmﬂ'\B@m
aramwﬁc.h-ammﬁcﬂmm'
SEA B-3 93 GHAHTE 3 A e

D
(B) C
i *‘-‘W
5 e ¢ <
p * £ ¥

6. CRIA! “ifawit Bran, 5uFf TAE AP 6 T
21 061 T | 6 G o1l Bt 18 ATA FE R LAY

(A) %

625
16
125
8

25

—

4

(B)
(©)

(D)

66. Y T TN &
/(J{aﬂﬁiawm
(B) *A<5® SUIIOH
(C) Fefere I
(D) e ARG

%Q W —

M S

N
67. e Mere e 7 % AR gy
7, ! R AR T T | R gy
A | Twer v g Tl e e N
(A) iz
(B) =

(.(C)’ﬁ'fﬂwmmr

(D) et

[Please
Tut'n 0\.&]
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68. Who has won the India’s Science Award,
Bhatnagar Puroshkar for Chemistry in 2020?

(A) Prof. Surajit Dhara

(B) Prof. Surjendu Dutta

(C) Prof. Rajat Shubhra Hazra
(D) Prof. Jyotirmoyee Das

69. A garrison of 500 men had provisions for
24 days. However, a reinforcement of 300 men
arrived. The food will now last for

(A) 15 days
(B) 17%a days
(C) 18 days
(D) 16 days

70. Which of the following is not a bacteria
related disease?
(A) Typhoid
(B) Pneumonia
(C) Influenza
(D) Diphtheria

71. How many 4’s are there preceded by 7 but
not followed by 3 in the following number series?

5932174269746132874
138325674395820187463

(A) Four
(B) Six

(C) Five
(D) Three

2. Which state has recently declared and
Celebrated a particular day as ‘Desh Nayak Divas®?
(A) Bihar
(B) Jharkhand
(©) Odisha
(D) West Bengal

(18)

68. 2020 FTF T *I1TH ¢ et ot (Hema
TR SHAIR ATHR AS ICACRA
(A) e Fafers al \'5“'
(B) =rwa 7 78 \qgg
(C) mmaw %4
(D) =rasa (eies

69. @3l CrEERTS 500 T BT 24 e
2577 7% | W6 300 & Gl SAfFS T, 6 T
TR (TR eI AL

(A) 15 =
(B) 17v =
(C) 18 =
(D) 16 =

70. TG @D FRGRAE NS S FA?
(A) TRTFEC
(B) it
(C) Egwe!
Py fEoafam.

71. ez wen AN FeaFH 4 0T TR A
7 =R 5% <2 3 7R

593217426974613287.4

P

138325674395820187463

) B1A
(B) =0 ;\q'
(C) s =
(D) fea

72. (W e Arefew ww gal 7
‘ormTEE W A CArEen T TR e

(A)
(B) ¥gde
(C) Sfeam
(D) “fssa®



(19)

73. If 27th September in a year is Saturday,
then what day will be 27th October in the same

year?
(A) Monday
(B) Saturday
(C) Sunday
(D) Thursday

74. In human body blood does not clot in
(A) Artery
(B) Capillary
(C) Brain
(D) Vein

75. Sportsperson Deepika Kumari, who
recently reclaims world no. 1 ranking is associated
with

(A) Archery
(B) Table Tennis
(C) Wrestling
(D) Kabaddi

76. At what rate of compound interest per
annum, the amount of Rs. 10,000 for 2 years is
Rs. 12,1007

(A) 10%
(B) 5%
(©) 11%
(D) 20%

77. CMM, E0OO, GQQ, __?_,KUU
(A) GRR
(B) ISS
(C) ITT
(D) GSS

75. e famia 9 w99 caramare Here gd
I C4#1E A TG 2
(A) foa=nfE
(B) B &
(C) 3f&
(D) FalfE

76. A sargfa ¥ YA T, 10,000 B
2 qeF 12,100 BRF TA?
(A) 10%
(B) 5%
(€) 11%
(D) 20%

77. CMM, EOO, GQQ, 1. KUU
(A) GRR
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78. If height of Mercu

decreases rapidly it denotes
(A) chances of storm

(B) chances of Sunny weather
(C) chances of clean weather

(D) chances of rain

ry in a Barometer

{ a profit of 5%,

. If a person sells an article a
i llsitata loss of

he gains Rs. 15 more than if he selis 7 =
59. What is the cost price of the article”

(A) Rs. 150
(B) Rs. 120
(C) Rs. 125
(D) Rs. 105

80. From the given alternative words, select

the word which cannot be formed using the letters

of the given word:
PHOTOSYNTHETIC
(A) THOSE
(B) PRONE
(C) COTTON
(D) SCENT

81. The length of a hall is 5m more than its
breadth. If the area of the floor of the hall is 84 m?
what are the length and breadth of the hall? |

(A) 11mand 6m
(B) 13m and 8m
(C) 14m and 6m
(D) 12m and 7m

82. “J'h]

Planeg? ch one of the following is not a Dwarf

(A) Pluto
(B) Ceres
© Ens

) Neplune

E’t@q’ o

A2 lsm@ﬁﬁml
7 3

(A) 150 Brm
(B) 120 Brm
(C) 125 1
(D) 105 Bl

80. MBI  warafig T cemd

PHOTOSYNTHET]
C ==fog
HAEA 7 ? I T3 1o 3

(A) THOSE

/GB‘)" PRONE

(C) COTTON
(D) SCENT

81. «af T o avga e 5 @M
o e 847 T, S e W o

27 07
(A) 11fe6f

B) 13fie gf
(C) 14fie 6f
D) 12fte 1

82. WWMWET{'HM




s TN e
]ndu; h ing }ﬂﬂ
try: Ustry ; (21) 'lwﬂ’
$ knowp as RBS P
AJ Pqnx ) s‘.ll'llﬂm‘e . rﬂﬂﬁ
(B) TpgreMical Ing . Saite Ry qwre A
fCJ ranspoﬂ l“dus ustry AR e
(D Cmstmcﬁ““l ol idafiens e
) Com l'ldusu.y .
Puter Indusiry (B) stfarazet fm
(C) fosfiet Forw
(D) afeEora e
¢« ¥
-
At
. 3" means X X WY
MEans X s momer s S Aherof Y X#y' | g4, W XSY T x, yam s XY g
Sister of Y e r of Y.: ‘XxY’ means ‘X is x ‘;’-&Hﬂ‘l ) ‘XKY'W X Y..,ﬁ'-_l@f;" ’
N#ASB o n how is D related 1 : 3 Nmﬂmﬂm
5 Nin | y#AsBxDEDT——
(A) Nephew (A) ST

(B) Gl'a,l]d_dau gh[cr

{C) Can not be determined

85. Torr is the Unit of
(A) Pressure
(B) Momentum
(C) Work
(D) Force

g6. The ratio of market prices of wheat and
dyis2’ 3 and the ratio of quantities consumed
Pa: f;'nﬁl)’ is5:4.Find the ratio of expenditure on
::hgal and paddy-

A) 615

© g: 15

85. Torr & Unit?
(A) &1¥ (Pressure)
_agy =6 (Momentum)
(C) ¥ (Work)
(D) ¥ (Force)

86. 16 ¥R AGHAMCEA SATS 2 : 3 92 43
AN o1 € YT FIYEI TGATE 5 : 4| OH
sifFarafa 5w @ Y T YABA TGATES TG ¢
(A) 6:5

(B) 1:1

() 813

D) 5:6

[PIEaSt Tum ()\ -
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g7. How many triangles are there in the given

(A) 10
(B) 14
(C) 16
(D) 12

88. Whosebiography is ‘Romancing with life'?
(A) Dilip Kumar
(B) Amitabh Bachchan
(C) Raj Kapoor
(D) Dev Anand

89. Who wrote the play ‘Mudrarakshasha’?
(A) Shudrak
(B) Vishakhdutta
(C) Kalhan
(D) Kalidas

%0. If a seller sold two sarees at Rs. 400 each
&nd made a profit of 20% on the first and a loss of
20% on the second, what is his total profit or loss
On the whole?

(A) No profit no loss

(B) 44 profit
(C)

(42)

87. 57 wfire ool Tge wnyy

(B) 14
(C) 16
(D) 12

88. @13 G7=1 AW ‘Romancing with life’ ?
(A) faefist g
(B) wfiers amw
(C) e R
(D) ™ W=

89. Jurrs’ wbeda wfiet @ e
(A) =S
_B) Reirara
(C) ¥=1zR
(D) @i

9%0. 7% e =B 400 Srem REF 3@, @
ﬁwmﬁﬁmm%meﬁmm

20%wﬁﬁm§mnmrmamwmm
»® 75 ¢

(A) =e A =S R wfar
(B) 4% =ire 33|
(C) 1% =re 33|

(D) 4% =7 33|



91, Fill in the blanks with appropriate set of

letters:
_a_bca_dabba_bac_c_a
(A) adcdba
(B) achdba
(C) acbhdab
(D) acdbba

92. Using duplicate application to collect user
password is called
(A) Bullying
(B) Stalking
(C) E-bombing
(D) Phishing

93. In which year Sundarban in West Bengal
has been declared as a Heritage Site?
(A) 1999
(B) 1969
(C) 1989
(D) 1979

94. If ACID is written as 1C3D, PAMPER 18
written as PIMP2R, then how will BOMBAY be

written?
(A) BAMBIY
(B) BSMB2Y
(C) BAMB2Y
(D) B3MBIY

(23)

rBSIW(P)20
91, A adfupm fwry “Jeti gl oae 2741 5

e g

(A) adcdba
(B) achdba " oo o A b
(C') achdab —

c -
(1) acdbba bo.c.,\’

0r ﬁ"'*h
b, - Jpbbal- Lac _q-a

92. wiaab =nfarama ayags aca apazaada
AmenS oy wara B am o9
(A) Bullying
(B) Stalking
(C) E-bombing
(D) Phishing

93, @ HI(F APETAHA FHIIE L3 (DT
20 CArEen T T ?

(A) 1999
(B) 1969
1989 \ Q;QG
(D) 1979 Q a
\ »
A- \
? -

94, uft ACID-9% wegefes s 103D,
pAMPER-.ﬂH PIMP2R T, S@ BOMBAY-93

e @i & A

/m/mgmaw/ g O

(B) BSMB2Y
(C) B4MB2Y
(D) B3MB1Y/

[Flease Tarn Over)
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95. The ‘Pegasus’ spyware, allegedly used for
surveillance of phones recently, was developed

by
(A) Israel
(B) USA
(C) France
(D) Canada

96. What is “Fire Ice™?
(A) Methane Hydrate
(B) Propene Hydrate
(C) Methylene Hydrate
(D) Ethane Hydrate

97. A and B can do a piece of work in 10 and
I5 days respectively. 4 alone did the work for
4days and then Bdid it for 5 days. Thereafter C did
the remaining work in 8 days. How long will they
take to complete the work together?
(A) 5 days
(B) 8 days
(C) 3 days
(D) 7 days

98. In 1943, Subhas Chandra Bose formed the
Provisional Government of Free India at

(A) Rangoon
(B) Berlin

(C) Bangkok
D) Singapore

(24)

95. Ao wira s wifgsires e ‘oo’
A FWGeATA ayazag o wferne T, ot
(1 (At TS ¢

) Ewaia
(B) sf&a yoarg
(C) 7™
(D) #tarst

96. ‘Fire Ice’ 477 foicsite (=fbra CATAG o317
(A) farces =f2rgh
(B) oAM= 5f2Eh
(C) fafefam 2f2rgd
(D) %o Z2rEb

97. @3f & 4 W22 B IAHFE 10 € 15 7w o
A | A 24U 931 4 77 A #2 B S TAw Il @
w38 FEf C 8 e oorx 32 | fomtam o =2
G FEWE g 7359

(A) 5= & ©
(B) 8=

(©) 3 fm g‘/‘@
(D) 7= X\

A
qd@f@

98. 1943 = e e g sereve

21 71l SrRTe Sy (Provisional) 5@ 5
ek

EL T

(B) afefq

(C) I
(D) Frre

5
g,

(O

3

i . m—



(25) cgstWP/?!
99. Who was the Director General of National

Government in Tamluk? ”. Wmmmwﬁﬁi@“ ¢
(A) Ajoy Mukherjee (A) e s
(B) Satish Chandra Samantd (B) & 5w wrry
(C) Biren Sashmal (C) Fz= =rmm
(D) Sushil Dhara (D) & wra

100. Which least number is divisible by 12, 15, 100. 12, 15, 20 @2 25 w13 firstey gaew #e(

20 and 257 —
(A) 300 (A) 300
(B) 150 (B) 150
(C) 600 (C) 600




